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QUESTION 1

Choose the correct answer

How would a modeler refine a use case textual narrative?

A. provide a detailed definition of the use case using a behavioral diagram

B. specify all of the triggers preconditions, and post conditions for the use case

C. specify all extension points for extend use cases and specify all secondary actors

D. provide a complete textual description of the main flow and alternative/exceptional flows for the use case

Correct Answer: A

QUESTION 2

Choose the correct answer. Given the following diagram: What needs to be determined in order to model the connection
between components sO and u3 in more detail?

ibd [Block] Sy=stem Block [Detailed pars, genaralized connaclor] |
a0 : A u3d: B
h2:P m5:Y
h3 : Q ma:Z

A. whether component sO subclasses component u3

B. which parts of each component participate in the connection

C. which parts of each component participate in a reference association

D. whether any part that belongs to component sO subclasses a pan that belongs to component u3

Correct Answer: B

QUESTION 3

Choose the correct answer.

What is the relationship between objective functions and measures of effectiveness (MOESs)?
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A. An objective function is usually a function of only one MOE.
B. An objective function is usually a function of several different MOEs
C. An MOE is usually composed of only one objective function.
D. An MOF is usually composed of several different objective functions

Correct Answer: A

QUESTION 4
Choose the correct answer.

Which diagram shows that the control system block is in the namespace of the system block?

A. bdd [package] Model )

|

whlocks
Control system

B. | bdd [package] System |

abiosks
System

!

ablocks
Control system

bdd [block] System )

ablocks
Conltrel system

D. [ bad [packege] Model )

System |

Corntral Byalam |

«blocks ‘ ablocks

Control system System
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A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D

QUESTION 5
Choose the correct answer.
The area of a rectangle is calculated through analysis of its height and width:

How is this represented in a model?
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A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Correct Answer: A

QUESTION 6
Choose the correct answer.
Given the following bdd fragment and table showing messages sent between blocks:

M essana Sardding Reacaiving
A Tyoe Block Bk,
P B O

L& o E
R E B

Block C Is encapsulated; none of the other blocks are.

Which Ibd for block A has the correct assignment of flow ports and connectors? If two or more options are correct,
select the one with the fewest ports.
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A
ibd [Block] & [Communicabon] ,rJ
H
b2+ 4 P e
|._F.'E o E;q_.r
B. ibd [Blodk] A [Communicabon] J
=g Capad ateds
Rr ] o g EL
€ b —— E e
S =par=t0
D
C. thd [Block] & [Communicabon] J
—_ +#C
we— Ty ol
e Ry T | 5 e 1
HE]
o e A =,
D' ibd Elock] A [Communication] J
Hs
B
g S P Q
=}
- ;
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B

QUESTION 7

Choose the correct answer.
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Which package diagram fragment depicts the definitions of the stereotypes Hardware and Software?

A
aimelaclaskn
Block
[ 1 1
E 1
whantware s o st
Bigack Back
E 2 Tt s ‘
Bilock
1 1
I— =
ARy e Gy
Hardware Sottware
C | H ST O @ ‘
(51 7=
L L
f— ]
s EiEreolypes ‘ ‘ Ty |
Hardhwarne Salbwmne
D' & ShareOdyDEs
Black
‘ ssierentypes ‘ ‘ o sieneohy e e |
Hardhwnrs Salfwara
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B

QUESTION 8

Choose the correct answer

Which statement is true about the read only keyword when it appears next to a property?
A. It states that the corresponding property is provided for reading purposes only

B. It specifies that the corresponding property cannot be redefined
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C. It specifies that the value of the corresponding property cannot change during the lifetime of its owner.

D. It specifies that the value of the corresponding property can be changed by its owner, but can only be read by other
blocks

Correct Answer: A

QUESTION 9
Choose the correct answer.

Given the following block structure model:

bdd [Package] P2 | bdklP2 !._l
=hilocks
=5
= constrais
L PR s—wrary
wallRre 3
v FRaal
sk 3 A
eblock = Ete ] abdock=
E &
ConStENts o) vk 5
o1 . P2a=Z" wva . Feal
il e
vwh - Ren
Block] SIS 1) _—— — —
concll i i L a3 A |
| |u-:5h:ni. l
I I
e e ST
map A
acon sl Erts ¥ . Real
Cd : EmwW ARy w2 Eeal J
{Z=wisnsy ]}
we : Feal I_ eb:ig |
L { v e | :
I 1 |

What is the value of S1.vs when the parametric models are executed for the following instance?

bdd [Package] P2I] b lJ
alHock =
515
sap = A2
sar= Al
=h = B
¥z ="
bk -ri.ﬂﬂ!"_'li rhll.';l."&-"l-
B1:H Al A AP A
ba= a1 va="3" va="5§"
vh=*

A. 11
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B. 14
C.13
D. There is no value - the instance model is invalid

Correct Answer: B

QUESTION 10
Choose the correct answer

Which diagram fragment validly depicts adding properties to a stereotype?

A

mivelacl ass s
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——

a Rl STaly
Configurod Classifior

s wsdar Ch : Boolaan
cramiar - Sy

warskon ¢ integar

last update - Date

=T Clann e
Classifior

T

wComnbigurned Class T«
Configured Bloch

| wnchiar S - Bookaan
remier | SAriyg

virsion - isnar

las! up=dats - Dals

2 mataclassw
Classifior

T

= ELBrEOlypeE s
Configured Block

soonfiguresd claseife:
I imcler SR - Bookan
1maTier ¢ SEreg
e e lrieRgen
lzvest wgstdotes ¢ (Dmtes

#imelEaclang e

Classifior

T

A EIENEOTY
Configured Block

woonfiguned clas i
fa wncler T Boobsan
mamer : String
versEan | Irleier
b=t update - Date

A. Option A
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B. Option B
C. Option C
D. Option D

Correct Answer: D

QUESTION 11
Choose the correct answer.

Which SysML construct specifies a probability distribution to the values of a property such as a basic interval distribution
between min and max?

A. a range property

B. an interval property
C. a probability property
D. a distributed property

Correct Answer: A

QUESTION 12
Choose the correct answer.

Given the following package diagram depicting profile and model library relationships to a user model.

piog [Modsl] System Mudnlf,.l

o ——— R IETENC R — = = ———

1 : L
e ol ler s aprraafiess
Lisar Prafila éyn“l.
7.3 y.3
= AN l‘:{"!tn'l-'-'-ll N b = «opp iy (B - - = -
Usar Model | -mports 2 “REEn SRR

The User Profile extends SysML with two new stereotypes of Block Hardware and Software. Which bdd fragment is
valid, yet does not contain unnecessary or redundant information?
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A. Option A
B. Option B
C. Option C
D. Option D

E. Option E
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Correct Answer: B

QUESTION 13
Choose the correct answer.

Given the following diagram fragment:

s i B S

2 s e
f {: Initiate Process )
et 7T

Initiator

What does the multiplicity at the actor end mean?

A. At most two Initiator actor instances can perform the use case

B. Two Initiator actor instances are required to trigger the use case

C. Two Initiator actor instances are required to participate in the use case.
D. Multiplicities carry no meaning on use case diagrams

Correct Answer: C

QUESTION 14
Choose the correct answer.
Block 1 has a value property \Wa\\' part 1. typed by Block! sends the message MI If a?; otherwise it sends message M2.

Which diagram depicts this scenario?
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A. Option A
B. Option B

C. Option C
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D. Option D

Correct Answer: A

QUESTION 15
Choose the correct answer.

The essentials of a laptop battery capacity model are shown In the following diagrams (where the value types W, h and
Wh stand for watl, hour, and watt-hour respectively). Assume that the instance values shown are inputs, and that
nothing relevant has been omitted.
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par [Biock] Laptop | Lagtop 1)

m"‘"]?{:l eqn?b : Usage Tome Fogn
Tl (i = whwrgy frala) | toe o2
usage_time_emaining

l s ‘“{"]w:w_l‘iﬂu_&t

bhaftery_capacey

eqnia: Battery_Eqn

eld

a7

ot bt | anwergy_cepacity

1 o> :
equib : Battery Eqn D._........;a.__._. energy remaining

(totol = bot? « bat}

bed (Package)] npdop] SIX | IspeopT 000 |

ablock s

lapton 16096 ; | apton
batten! * Removable_Baftery = batELS0
bateryl . Removable _Battory ~ baEL100D
battery_capacity - Wh = =
battery_level : Real = ™
battery_remaining © vWn ===
babttery_usage_rate -W="250"
usage_hme_capacity-h="
usage_bme_remaining . h==

] = 1 &
ehiocks 11 erdacks
enangy_capacity ; Yvh = “50,0° energy_capacity - ¥wh = *100.0°
enangy_level | Raals ™ anergy_leavel " Real = ™= |

enarngy_remaining - Wh = =10.0° enargy_remsining | Yvn « 700"
1

Hers are Lwo model changs aspecls and aspocialad oplhiore the modeler 18 consmdsnng.

Aspect I — Changes 1o model defhaion.
01 1 Uae the cuuvent mode] defintion as-is.

01 2: Change the cument model definition to make batteryl .energy_capacity an output
by replacing axisting constraint expreagions: put { energy = rate * time] in eqgn2a and
{batl = total —bat2} in eqnla.

O1 3. Creale anew model delinalion (ag gomes consullanl has smd changng an exislng
model in thiz way iz not feasible with SyaML).

Aspecr 2 — Changes 1o mismances.

02.1: Uge the current mmetancee ag-is.

02 2° Change the ourrent instances by making uaage_time_capacity = 2 h as an input
wvalue in laptopT3000, maling batELS0 energy_capacity an output (cleanng itz current

wvalug), and then eolvang the model
02 3: Create niew instances with appropriate input values, and then solve the model (as

lthe consultant said reusing exicting melances in this way iz not feazible with SyeML).
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The designer needs to determine what the energy_capacity of battery 1 should be to enable a laptop
usage_time_capacity time of 8 hours. Which combination of the options listed in the text box in the figure will achieve
this Intent with minimal changes (including minimal new aspects)?

A.Ol.1land 021

B.O0l1.1and 02 2

C.011and 023

D.0O1.2and O2.1

E. 017 and 02.2

F.01.2 and 0O2.3

G.013and 023

Correct Answer: C
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